Sr Questions

1 Which of the following is not a high level language?

2 In DOS, a user communicates with the operating system by issuing:

3 ‘Which provides command line interface to the user?

4 What is the extension for MS-EXCEL file?

5 The most popular operating system for personal computer is:

6 Which type of memory uses the chips that retain the contents indefinitely withoutconstant electronic
refreshment:

Answers Choice

A. Fortran

B. Basic

C.Cand C++

D. Assembly Language

A. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">Routines</span>

B. <label for="answer-id-5864"
id="answer-label-5864" class="
answer" style="box-sizing: border-box;
display: inline-block; max-width:
calc(100% - 2.25em); margin: Opx;
font-weight: 700; padding: Opx;
cursor: pointer; width: auto; vertical-
align: text-top; color: rgb(71, 66, 93);
font-family: Poppins;"><span
style="box-sizing: border-
box;">Instructions</span></label>

C. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">Procedures</span>

D. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">Commands</span>

A. Window
B. Folder
C. Drive
D. DOS

A. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">.com</span>

B. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">.xls</span>

C. <span style="color: rgh(71, 66,
93); font-family: Poppins; font-weight:
700;">.doc</span>

D. .<span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">txt</span>

A. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">DOS</span>

B. <b>UNIX</b>

C. <b>WINDOWS</b>

D. <b>LINUX</b>

A. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">Sram</span>

B. <span style="color: rgb(71, 66, 93);
font-family: Poppins; font-weight:
700;">Rom</span>

C. <span style="color: rgb(71, 66,
93); font-family: Poppins; font-weight:
700;">R</span><span style="color:
rgb(71, 66, 93); font-family:
Poppins;"><b>om</b></span>

D. <b>None of this</b>



